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[A] Commit, Space, Solution

[B] Curb, Inform, Cure

[C] Find, Curb, Inform
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56) Find the correct order of the words to form a sentence.
Travel I and together Satish

A b C d e

[A] bceda

[B] echad

[C] echda

[D] bcead

57) In the following question, four words are given, of which to words are nearly the same or
opposite in meaning. Find the two words that are similar or opposite in meaning and indicate
the number of the correct letter combination provided in the options.

A) Shambles B) Flexible
C) Periodic D) Organized
[A] A-B

[B] A-D

[C] B-C

[D] B-D



58) Match the words in column "A" with their meaning in column "B". Choose the right
answer from the options given below:

Column-A Column-B

1) Sanguinary a) Careful

il) Punctilious b) Impeccable
iii) Dogmati ¢) Murderous

iv) Reprehensible d) Pontifical

e) Very bad

[A] i-c, ii-d, iii-a, iv-e

[B]i-c, ii-a, iii-d, iv-e

[C] i-b, ii-d, iii-a, iv-C

[D] i-e, ii-a, iii-b, iv-d

59) _ wuraniumis___ toxicmetal. ___ uranium in Australia covers 31% of
world’s known uranium ore reserves.

[A] article not required, a, the, the

[B] the, a, the, article not required

[C] article not required, a, article not required, the

[D] the, the, article not required, the

60) Match the left-hand column with the right-hand column with the help of the codes given
below :

(i) a person who goes out and gets stories for newspapers (A) A nature programme

(ii) a person who writes articles in newspapers and magazines (B) A Comic

(iii) a newspaper you can buy every day after about 5 p.m. (C) An evening (news) paper
(iv) a magazine that children read, with cartoon pictures (D) A journalist

(v) a programme on TV about animals, birds etc. (E) A reporter

[A] ()-(E), (ii)-(D), (iii)-(C), (iv)-(B), (v)-(A)

[BI (1)-(B), (ii)-(A), (iii)-(C), (iv)-(D), (v)-(E)

[CT ())-(A), (iD)-(B), (iii)-(C), (iv)-(D), (v)-(E)

[D] ()-(C), (i)-(D), (iii)-(A), (iv)-(B), (v)-(E)

61) Choose the incorrectly spelt words form the following set of words:
[A] acquaintance

[B] maneouvre

[C] erroneously

[D] demurrage



62) Choose the correct rearrangement of the following jumbled sentences to make it a
meaningful paragraph.

A) Music is perhaps the most popular of all the arts and we find that classical Indian music
continues its traditions.

B) Both have deep traditions and changes only happen gradually.

C) For example, concerts are usually by a vocalist or by a solo musician playing an
instrument, with a minimum of percussionists.

D) Indian culture is rich in the arts - literature, music, dance theatre, fine arts and, in modern
India, cinema and television as well.

E) The two main types of music in India are the North Indian Hindustani and the South
Indian Karnatic music.

[A] EDBAC
[B] DEACB
[C] DAEBC
[D] ABECD

63) Choose the right alternative to make it a meaningful sentence.
Teamaybeusedto  Coffee.

[A] Compliment

[B] Complementation

[C] Complement

[D] Complementary

64) Select an appropriate title for the passage.
[A] The Miracle of Danger

[B] Courage and Panic

[C] The Will to Fight

[D] The Change of Nature

65) Choose the right matching of the synonyms to the four words given below:

i) Arbiter a) Unconcerned
i) Blithe b) Thrash

iii) Flail c) Controller
iv) Zeal d) Fervour

[A] i-a, ii-b, iii-d, iv-c
[B] i-b, ii-a, iii-d, iv-c



[C] i-c, ii-a, iii-d, iv-b
[D] i-c, ii-a, iii-b, iv-d

66) In the following question, the first and the last sentences of the passage are in order and
numbered S1 and Se. The rest of the passage is split in to four parts and named P, Q, R and S.
These four parts are not given in their proper order, as they should appear in the paragraph.

Read the passage and find out which of the four combinations correctly forms the sequence
of sentences in the passage.

S1: One key prevention is making personnel thought-out the organization aware of the fraud
risk management program, including the types of fraud and misconduct they may occur.

P: With this in mind, prevention and deterrence are interrelated concepts.

Q: This awareness should enforce the notion that all of the techniques established in the
programme are real and will be enforced

R: The ongoing communication efforts could provide information on the potential
disciplinary, criminal and civil actions that the organization could take against the individual.

S: If effective preventive controls are in place, working and well-known to potential fraud
perpetrators, they serve as strong deterrents to those who might otherwise be tempted to
commit fraud.

Se: Fear of getting caught is always a strong deterrent. Effective preventive controls are,
therefore, strong deterrence controls.

[A] PRQS
[B] QRPS
[C] QRSP
[D] RSPQ

Instruction: Read the following Passage carefully and answer the questions given below:

When we are suddenly confronted with any terrible danger, the change of nature we undergo
is equally great. In some cases fear paralyses us. Like animals we stand still, powerless to
move a step in fright, or to lift a hand in defence of our lives, and sometimes we are seized
with panic, and again, act more like the inferior animals than rational beings. On the other
hand, frequently in cases of sudden extreme peril, which cannot be escaped by flight, and
must be instantly faced, even the most timid men at once, as if by miracle, become possessed
of the necessary courage, sharp quick apprehension, and swift decision. This is a miracle very
common in nature. Man and the inferior animals alike, when confronted with almost certain
death ‘gather resolution from despair’, but there can really be no trace of so debilitating a
feeling in the person fighting, or prepared to fight, for dear life. At such times the mind is
clearer than it has ever been; the nerves are steel; there is nothing felt but a wonderful
strength and fury and daring. Looking back at certain perilous moments in my own life, |
remember them with a kind of joy; not that there was any joyful excitement then, but because
they brought me a new experience—a new nature, as it were—and lifted me for a time above




myself.67) Why does the author feel happy in the recollection of dangers faced and overcome
?

[A] Because they brought him a new experience and lifted him above himself for a time
[B] Because he was lucky to be alive
[C] Because they brought him a new experience

[D] Because he survived his ordeal

68) Identify the part of the sentence which has an error in the following statements.
Children washed (A)/their hands (B)/after they played (C)/with a new born puppy (D).
[Al (A)

[B] (B)

[CI(C)

[D] (D)

69) Choose the right rearrangement of the following sentences into a meaningful paragraph.
(A) We have ten percent growth rate in most areas. Our Poverty levels are falling.

(B) For fifty years, we have been a developing nation.

(C) We are among top 5 nations of the world in terms of GDP

(D) My second vision is for India’s development.

(E) It is time we see overselves as a developed nation.

[A] (D), (B), (E). (C), (A)

[BI (B). (A), (D), (E), (C)

[CI (D). (B), (B), (A), (C)

[B1(E), (C), (A), (B), (D)

70) Fill in the blank with a suitable word to make the following sentence a meaningful one.

The festival is a three-day-long celebration that combines feasts as well as
fasting.

[A] unornamented, resolute
[B] paltry, obstinate
[C] scanty, parsimonious

[D] sumptuous, rigid

71) Choose the right matching of one word substitutes with their description.
(i) Congestion  (A) An accident in which two vehicles hit each other

(i) Collision (B) Situation in which roads are full of traffic



(iii) Bottleneck (C) Occasion when a vehicle stops working

(iv) Breakdown (D) Place in a road where the traffic cannot pass
[A] (i) - (C), (i) — (B), (iii) - (A), (iv) - (D)

[BI (i) — (A), (i) - (D), (iii) - (B), (iv) - (C)

[C] (i) — (D), (i) - (C), (iii) — (A), (iv) - (B)

[D1 (i) - (B), (ii) - (A), (iii) — (D), (iv) - (C)

72) Answer The question after reading the following passage:

The traditional approach to parenthood is completely unsatisfactory. Women have to spend
many hours in child -rearing. Those with professional skills may sacrifice their carrier in all
respects for the benefit of only one child. Because women spend time caring for their
children, the services of many expensively trained teachers, nurses, doctors and other
professionals are altogether lost to society. Even of child - rearing is shared by the father, it
simply means that two people waste time on an unproductive task for which they may be
entirely ill-equipped. Society would be much better served if parenthood was made the
responsibility of well-trained professional parents who would look after groups of children as
a paid occupation. This would end amateur childrearing and allow the biological parents to
fully develop their carriers for the benefit of society. Critics may argue that children reared in
this would feel rejected, at least to some extent, by their natural parents. This is quite untrue.
Evidence from societies where collective childrearing is practiced shows that children merely
experience minor upsets and are hardly affected by the separation.

What is the function of expression like ‘completely, in all respects, altogether, simply,
entirely, much, at least to some extent, quite, merely and hardly' in the passage?

[A] To maximize the points against their opinion
[B] To persuade the reader by well-structured argument
[C] To mislead the reader so that she/he keeps on worrying about the gist

[D] To minimize the points in favour of their opinion

73) What is the meaning of the word ‘Kudos’ in ‘Kudos to the crumbs of entrance test’ ?
[A] Reputation

[B] Decoration

[C] Confirmation

[D] Notability

74) To “take a leaf out of someone’s book™ is to
[A] Steal something

[B] Damage something

[C] Cheat someone

[D] Imitate somebody in a particular way



75) What is the antonym of the word ‘pious’ in ‘She is a pious woman’.
[A] Sweet

[B] Famed

[C] Ungodly

[D] Cruel

76) To ‘show someone the ropes’ is to
[A] Influence someone

[B] Show someone how powerful you are
[C] Hang someone

[D] Show someone what to do

77) In the following question, four words are given, of which two words are nearly the same
of opposite in meaning. Find the two words that are similar or opposite in meaning and
indicate the number of the correct letter combination provided in the options.

A) Possessive B) Dreadful
C) Secretive D) Repugnant
[A] B-C

[B] B-D

[C] A-B

[D] A-C

Instruction: Read the following Passage carefully and answer the questions given below:

When we are suddenly confronted with any terrible danger, the change of nature we undergo
is equally great. In some cases fear paralyses us. Like animals we stand still, powerless to
move a step in fright, or to lift a hand in defence of our lives, and sometimes we are seized
with panic, and again, act more like the inferior animals than rational beings. On the other
hand, frequently in cases of sudden extreme peril, which cannot be escaped by flight, and
must be instantly faced, even the most timid men at once, as if by miracle, become possessed
of the necessary courage, sharp quick apprehension, and swift decision. This is a miracle very
common in nature. Man and the inferior animals alike, when confronted with almost certain
death ‘gather resolution from despair’, but there can really be no trace of so debilitating a
feeling in the person fighting, or prepared to fight, for dear life. At such times the mind is
clearer than it has ever been; the nerves are steel; there is nothing felt but a wonderful
strength and fury and daring. Looking back at certain perilous moments in my own life, |
remember them with a kind of joy; not that there was any joyful excitement then, but because
they brought me a new experience—a new nature, as it were—and lifted me for a time above
myself.78) The author names three different ways in which a man may react to sudden
danger. What are they ?



[A] He may be paralysed with fear, seized with panic or act like an inferior animal.
[B] He may be paralysed with fear, run away or fight.
[C] He may flee in panic, or fight back or stand still.

[D] He may be paralysed with fear or seized with panic, or as if by miracle become possessed
of the necessary courage, and face the danger.

79) Pick out the most effective pair of words from the given options to make the sentence
meaningfully complete.

The Prison guards degraded themselves with their ___and ____treatment of the prisoners.
[A] differential/ regal

[B] cavern/ fantabulous

[C] surreptitious/ overt

[D] inhumane/ ignominious

80) From the following pairs of words, select the one which is synonymous :
[A] Colloquial — grammatical

[B] Excess — surplus

[C] Fair — strong

[D] Alert — inactive

81) Choose the correct meaning of the italicized idiomatic expression in the following
sentences.

You cannot have your cake and eat it too.
[A] Enjoy forever

[B] Enjoy without payment

[C] Have it both ways

[D] Forgive yourself of guilt

82) Replace the underlined phrase by the correct alternative.
They left no stone unturned to trace the culprits.

[A] Combed the whole area

[B] Used all available means

[C] Ransacked the place

[D] Searched every corner

83) Choose the right rearrangement of the following sentences into a meaningful paragraph.

A. They are broken into small pieces called “places”.



B. A painter once discovered something possible and valuable about this street.

C. One street goes across itself one or two times.

D. They turn in different directions.

E. In a small part of the city west of Washington Square, the streets have gone wild.
[A] EDACB

[B] BACDE

[C] DBACE

[D] CBAED

84) Match the following definitions with their one-word substitutes.

a) A Place in a large institution for the care of those who are ill

b) A line of descent traced continuously from an ancestor

c) The art of effective or persuasive speaking or writing

d) A person who draws or produces maps

i) Cartographer

i) Infirmary

iii) Genealogy

iv) Rhetoric

[A] A-ii, b-iii, c-iv, d-i

[B] A-iii, b-ii, c-iv, d-i

[C] A-iii, b-ii, c-i, d-iv

[D] A-ii, b-iii, c-i, d-iv

85) Fill in the blanks with right verb forms to make it a meaningful sentence.
If you hard in your school days, you this examination today.
[A] Studied, will clear

[B] Study, will clear

[C] Had studied, would have cleared

[D] Had studied, cleared
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